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FOREWORD
The Advanced Certificate of Secondary Education Examination marks the end of
two years of Advanced Secondary Education. This is a summative evaluation
which, among other things, shows the effectiveness of the educational system in
general and the educational delivery system in particular. More specifically, the
candidates’ responses to the examination questions is a strong indicator of what
the educational system was able or unable to offer to students in their two years
of education.
The Candidates’ Item Response Analysis report (CIRA) in the 2016 Arabic
Language subject in the Advanced Certificate of Secondary Education
Examination (ACSEE), has been prepared in order to provide feedback to
teachers, students and all education stakeholders on the performance of the
candidates.
This report is intended to enhance understanding of the reasons for the
candidates’ responses in Arabic Language subject. The report highlights the
factors that made the candidates perform well in the examination. Such factors
include ability to interpret the requirements of the questions and to follow
instructions as well as adequate knowledge on the concepts related to Arabic
Language. On the other hand, the report highlights the factors that made some of
the candidates fail to score high marks including failure to identify the demands
of the questions, inability to express oneself in Arabic Language and insufficient
knowledge about the concepts, principles and rules related to the subject.
The feedback provided in this report will enable the education administrators,
school managers, teachers, students and other education stakeholders to identify
proper measures to be taken in order to improve the teaching and learning in
secondary schools, and therefore improve the candidates’ performance in future
examinations administered by the Council.
The National Examinations Council of Tanzania will highly appreciate comments
and suggestions from teachers, students and in general public that aimed at
improving future reports.
Finally, the Council would like to thank the Examiners, Coordinator and all who
participated in preparing and analysing the data used in this report.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report presents the analysis of the candidate’s performance in the Arabic
Language subject who sat for the 2016 Advanced Certificate of Secondary
Education Examination (ACSEE). The Arabic language examination for both
School and Private candidates was set in accordance to the 2004 syllabus and
the 2012 examination format.

The candidates were tested in the skills of comprehension, grammar,
morphology, composition, rhetoric, response to readings, poetry and prose
and history of literature. The examination had two papers, which are Arabic
language paper 1 and paper 2. Paper 1 had nine questions distributed in five
(5) sections and the candidates were instructed to answer five questions by
choosing one (1) question from each section. Question one (1) in
Comprehension was compulsory. Conversely, paper 2 had ten questions
distributed in five (5) sections and the candidates were instructed to answer
five (5) questions by choosing one (1) question from each section. Each
question carried twenty (20) marks.

The candidates’ performance in each question is presented by indicating the
requirements of the question, the expected responses to the questions and
how the candidates answered the questions. Extracts of sample responses
from the candidates’ scripts have been inserted in order to illustrate how the
candidates responded to the demands of each item.

The rating of candidates’ performance has been categorized into ‘good',
‘average' or 'poor' and they are represented in different colours. Under this
analysis, if the performance ranges from 60 to 100 percent, it is considered as
good and is coloured green, from 35 to 59 percent, it is average and is
coloured yellow and from 0 to 34 percent, it is poor and is coloured red. This
analysis is based on the average percentage of the candidates who scored 35
percent or above of the total marks allocated to the question. This
performance is summarised in the Appendix.

The candidates who sat for the 2016 Advanced Certificate of Secondary
Education Examination were 655, 539 (82.29%) of whom passed and 116
(17.71%) failed.



2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION IN ARABIC LANGUAGE PAPER 1

2.1 Section 1: Comprehension

This section composed of question 1 as a compulsory question and the
candidates were required to attempt all parts of the question. The
question carried twenty (20) marks.

2.1.1 Question 1

The question instructed the candidates to read the passage and
provide the answers from the given passage. The passage was
about hunting wild animals.

This question had parts, (a) and (b). In part (a), the candidates
were required to provide short answers to the five items given.
In part (b), the candidates were instructed to fill in the blank
spaces using the right information from the passage.

The question was attempted by 99.8 percent of the candidates
and their performance was good, as 40.4 percent scored from 12
to 19.5 marks, 44.4 percent scored from 7 to 11.5 marks and
only 15.2 percent scored from 0 to 6.5 marks out of the 20
marks allocated for this question. Figure 1 summarises this
performance.
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5026 44.4%

40.4%%

Percentage of Candidates

15.2%

020 —j

0-6.5 7 -11.5 12 -19.5

Scores

Figure 1: Candidates’ Performance
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The candidates who performed well in this question provided
correct responses to the five short answers and were able to fill
in the blank spaces with appropriate information from the
passage. This indicates that the candidates comprehended the
text given and had enough skills on reading for comprehension.
Extract 1.1 shows a sample of a good response.
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Extract 1.1 is a sample of a response from a candidate who provided
correct answers to the given short questions and could fill in the
blank spaces with appropriate information from the passage.
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However, there were also a few candidates who performed
poorly. Most of these were unable to provide the correct answer
in item (a-1), which asked: “Where are the wild animals being
hunted?” (f4dasiel cligad sai (). The majority of the
candidates provided the answer “ The wild animals are being
hunted in the garden” (4duad 4 duda giall cili] giadl sla)) instead of
“The wild animals are being hunted in the forest and in the
desert” (silaally Cbldl 4 ddsgial clijgad i), Another
example is item (b-1), which asked: “The heading of this
passage is --- SR— 34 debaidlll 06 ) pic
------- ), most of them provided answer: “The heading of this
passage is z00” (lgad ddus p4 debidll sdé y/s) instead of
“Heading of this passage is The Hunting of Wild Animals” ( &/se
Ada gial) clijgal) sua g6 d2hill »38). Others just copied some
sentences from the passage and used them as answers. This
indicates that these candidates could not comprehend the
passage due to lack of adequate knowledge about reading skills
for comprehension. Extract 1.2 shows a sample of a response
from a script of a candidate who failed to provide correct
responses.




Extract: 1.2
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Extract 1.2 is a sample of a response from a candidate who
provided incorrect answers and filled in the blank spaces with
inappropriate information.

2.2 Section 2: Grammar

This section had two questions and the candidates were instructed to
answer one. Each question carried twenty (20) marks.

2.2.1 Question 2

The question consisted of ten sub questions. The candidates
were instructed to analyse the inflection of the underlined words
given by indicating the subject, object, adjective, present tense
and defective verbs together with their noun and its predicate.
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The question was attempted by 46.5 percent of the candidates,
42.1 percent of whom scored from 0 to 6.5 marks, 36.8 percent
scored from 7 to 11.5 marks and only 21.1 percent scored from
12 to 20 marks. This implies that the candidates’ performance in
this question was good. This performance is summarised in
Figure 2.
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Figure 2: Candidates’ Performance

As indicated in Figure 2, most of the candidates who attempted
this question performed well. They could analyse the underlined
words by indicating the subject, object, adjective, present tense
and defective verbs together with their noun and it’s predicate.
For example in item (1), the following were the underlined
words: Man (da_) as first object (¢isaale Js¥/ 4 Jseds) and
sleeping (Lei) as second object (¢swaio ALY 4 Js2d4). This good
performance indicates that the candidates had understood the
instructions of the questions and had enough competence on the
inflection. Extract 2.3 shows a sample of a good response.
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Extract: 2.3
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Extract 2.3 is a sample of a response from a candidate who

correctly analysed the underlined words.

Further analysis shows that many candidates who scored low
marks in this question were unable to provide the correct answer
in item (2). For example, one of the candidates analysed the
word (2£le) as a subject or object instead of an adjective

(¢ v I caid ). Some of them just wrote words like

nominative case (£44) or subjective case ( «s<ia) in front of
the underlined words. Others left the questions unanswered.
This poor performance is a sign some candidates lacked
competence on Inflection (<L ¥). Extract 2.4 shows a sample
of a response from a script of a candidate who performed poorly

in this question.
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Extract 2.4 is a sample of a response by a candidate who analysed
the underlined word "like" (cua) as subject (=4 instead of verb

(J4 in item (4).



2.2.2 Question 3

This question had parts (a) and (b). In part (a), the candidates
were instructed to fill in the blank spaces with appropriate
pronouns and in part (b), to use the words from the brackets in
the given sentences.

The question was attempted by 53.2 percent of the candidates,
55.2 percent of whom scored from 0 to 6.5 marks, 30.7 percent
scored from 7 to 11.5 marks and only 14.1 percent scored from
12 to 20 marks. This shows that the candidates’ performance for
this question was average. This performance is summarised in
Figure 3.

Key

m0-6.5
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Oo7-11.5
Average

m12 -20
Good

Figure 3: Candidates’ Performance

The analysis of the candidates’ responses shows that the
candidates who scored high marks in this question understood
the requirements of the question and were able to fill in the
blank spaces with appropriate pronouns and could use the words
from the brackets in the given sentences. This shows that the
candidates had a good mastery in this area of Arabic Language.
Extract 3.5 is a sample of a good response.
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Extract: 3.5
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Extract 3.5 is a sample of a response by a candidate who provided

correct answers in part (a) and (b).

On the other hand, the candidates who performed poorly in this
question provided answers which were not related to the
demands of the question. For example, one of the candidates
used demonstrative pronouns (5L<Y/ sLewd) instead of pronouns

(v ez J) and others provided incorrect answers due to

insufficient knowledge of pronouns. In part (b), most of the
candidates were able to put the given words in the sentence but
could not consider the changes which are expected to occur after
using those words. For example, in item (4) the candidates were
required to use the conjunction “but” (J<) in the following

11




sentence (colS 98 53 bl /i) “This student is clever. He is
lazy. The correct answer was supposed to be; ( 4y S5 bl /i
od) “This student is clever but he is lazy”. However, the
candidates answered; (s oo /8 S5 bl <) “But student is
clever. This he is lazy” or (¢SS s . SJ culthlf /s <) “But this
student is clever. He is lazy” which were incorrect. Extract 3.6
shows a sample of a poor response.
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Extract 3.6 is a sample of a response by a candidate who failed to
correctly use the words from the brackets in the given sentences.

2.3 Section 3: Language Use

This section had two questions from among which the candidates were
instructed to answer only one. Each question carried twenty (20) marks.

2.3.1 Question 4

This question had parts (a) and (b). In part (a), the candidates
were required to re-arrange the jumbled words in a grammatical
order to form a meaningful sentence for each item. In part (b),
the candidates were instructed to convert the given sentence into
singular of feminine, singular of masculine, dual of masculine
and finally the masculine and feminine.

The question was attempted by 66.7 percent of the candidates,
66.7 percent of whom scored from 0 to 6.5 marks, 22.5 percent
scored from 7 to 11.5 marks and only 10.8 percent scored from
12 to 20 marks. This shows that the candidates’ performance for
this question was poor. This performance is summarized in
Figure 4.
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Figure 4: Candidates’ Performance

The majority of the candidates who performed poorly in this
question provided meaningless sentences by incorrectly
arranging the given words in part (a). For example, one of the
candidates re-arranged the sentence in item (5) as: “Haruna was

a swimmer skillful” (b « ) 2L ol ol instead of “He was

a skillful swimmer” (bl lw Gole o8, In part (b), most of

the candidates understood the demands of the question but they
confused the uses of pronouns and hence they used the incorrect
pronouns in the sentences. For example, one of the candidates
used dual pronoun instead of plural pronouns in this sentence;
(Lagics ot (A Ladselan g aleall Laguny Goagiaadl <Olbf). The correct
answer should be (agiel i 4 st el g aleal) agmay & gigiaal] L)
“The teacher loves hardworking students and helps them in their
studies”. This poor performance suggests that the candidates
lacked adequate vocabulary in Arabic Language and they did
not know the uses of pronouns. Extract 4.7 shows a sample of a
poor response from a script of a candidate.
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Extract: 4.7
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Extract 4.7 is a sample of a response by a candidate who
incorrectly re-arranged all the sentences.
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Despite the poor performance in this question, there were a few
candidates who performed well. These candidates were able to
re-arrange the jumbled words in a grammatical order to form
meaningful sentence and could convert the given sentences into
singular of feminine, singular of masculine, dual of masculine
and finally the masculine and feminine. This shows that the
candidates had a good mastery of Arabic Language. Extract 4.8
shows the sample of a good response.
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Extract 4.8 is a sample of a response by a candidate who was
able to convert with pronouns to the given sentences as required.
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2.3.2 Question 5

This question consisted of parts (a) and (b). In part (a), the
candidates were required to define the meaning of object and
pronoun, mention five types of phrases and two verbs that make
two verbs in the subjunctive case. In part (b), the candidates
were required to construct meaningful sentences by using
infective noun, the thing excepted, defective noun, governed
noun of genitive construction and adverb of place.

The question was attempted by 66.8 percent of the candidates
and their performance was good, as 39. 6 percent of them scored
from 12 to 20 marks, 32.8 percent scored from 7 to 11.5 marks
and only 27.6 scored from 0 to 6.5 marks out of the 20 marks
allocated for this question. This performance is summarized in
Figure 5.

100%
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70%% H
60%
50%%

Percentage of Candidates

39.6%
40% ~ 32.8%
30% | 27.6%
20% -
10%%
0% - . .
0-6.5 7-11.5 12-20
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Figure 5: Candidates’ Performance

The analysis of the candidates’ performance for this question

shows that most of the candidates who scored high marks were

able to define the meaning of object and pronoun, mention five

types of phrase and two verbs which make two verbs in the

subjunctive case and they could construct meaningful sentences

using infective noun, the thing excepted, defective noun,
17



governed noun of genitive construction and adverb of place.
Extract 5.9 shows the sample of a good response from a script of
a candidate.

Extract: 5.9
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Extract 5.9 is a sample of a response by a candidate Who was
able to construct meaningful sentences by using the given

phrases as required.
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On the other hand, the candidates who scored low marks in this
question were not conversant with the grammatical terms like
the meaning of object, pronoun, types of phrase, infective noun,
the thing excepted, defective noun, governed noun of genitive
construction and adverb of place, hence could not provide
correct answers. For example in (a-5), one of the candidates
wrote five derivatives of verb; ( -l aw/ -4y Js2dal) - Jeldl) - Jodl/
Jsrda aw) instead of five types of phrase. Another example is
item (b-1) which required the candidates to construct a sentence
with infective noun but the candidates provided the command
sentence: “read” ([4). Extract 5.10 shows a sample of a poor
response.
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Extract 5.10 is a sample of a response by a candidate who
constructed sentences by using the five phrases incorrectly.
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2.4 Section 4: Morphology
This section consisted of two questions and the candidates were
instructed to answer only one. Each question carried twenty (20) marks.

2.4.1 Question 6

This question had parts (a) and (b). In part (a), the candidates
were instructed to define etymology, distinguish between
grammar and morphology, and also explain how to realize
gerunds created by the verbs which are composed by three
letters and mention weak letters. In part (b), the candidates were
instructed to give measures of verbs that are composed by three
letters with examples.

The question was attempted by 42.8 percent of the candidates,
33.6 percent of whom scored from 0 to 6.5 marks, 35.7 percent
scored from 7 to 11.5 marks and only 30.7 percent scored from
12 to 19 marks. This shows that the candidates’ performance for
this question was good. This performance is summarised in
Figure 6.

Key
m0-6.5
Poor

o7-11.5
Average

m12-19
Good

Figure 6: Candidates’ Performance

The candidates who performed well in this question were able to
distinguish between grammar and morphology, explain how to
realize gerunds created by the verbs which are composed by
three letters and mentioned weak letters and provided measures
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of the verbs that are composed by three letters with examples.
However, most of them were unable to explain the meaning of
etymology. Extract 6.11 shows the sample of a good response.

Extract: 6.11
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Extract 6.11 is a sample of a response by a candidate who
analyzed the measurement of the verbs that are composed by three

Further analysis shows that most of the candidates who
performed poorly in this question were unable to provide correct
answers in (a-1) which required to define the meaning of
“etymology” (Jg4iéY). For example, one of the candidates
defined “etymology” ((§&idY) as gerund (u+<=</), another one
defined as object (4 Jsedaf) instead of explaining that,
“Etymology is to change word into various situations together

with meaning without losing its origin” ( ¢« 4el<lf s/ g8 g
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Ll 4 iy el 4 lgly ol ga 5430, Some of the
candidates, probably due to inadequate knowledge about the
subject matter, did not write anything. The candidates also did
not respond well in item (a-4) that asked: “How can you realize
gerunds created by verbs which are composed by three letters”
(LN Nad¥) jdlas i 2 <is). Most of them said that you can
realize by doing comparison (cwbdly L Jad¥) jilas i),
The correct answer was supposed to be; “Gerunds created by
verbs which are composed by three letters are realized by
hearing and quoting from Arabs” ( £Lewlly LY Sad¥) jilas i i
Ll oo il ),

In part (b), most of the candidates provided measures of the
gerund like (Jed ooad-4led instead of measures of verb that are
composed by three letters like & — &8 -Jad -Jxd, others
provided measures of the verbs that are composed by more than
two letters. For example, one of the candidates provided the
following verbs composed by more than two letters: (| s - Jedi/
s/ - Je g2d/ ). This implies that the candidates did not have
enough knowledge about morphology. Extract 6.12 shows a
sample of a poor response.
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Extract 6.12 is a sample of a response by a candldate who gave

measures of the gerund instead of measures of the verbs that are
composed by three letters.
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2.4.2 Question 7

This question had parts (a) and (b). In part (a), the candidates
were instructed to change the given verbs into active participle,
passive participle and gerund from the given verbs according to
the given instructions in the brackets. In part (b), the candidates
were required to measure the given verbs.

The question was attempted by 55.0 percent of the candidates,
43.1 percent of whom scored from 12 to 20 marks, 38.3 percent
scored from 7 to 11.5 marks and only 18.6 percent scored from
0 to 6.5 marks. This shows that the candidates’ performance for
this question was good, as illustrated in Figure 7.

100%
90%

80% -
70% -
60% -
50% A 43.1%

38.3%
40% -

30% -
18.6%
20% -

0% I T T
0-6.5 7-11.5 12 -20
Scores

Percentage of Candidates

Figure 7: Candidates’ Performance

The analysis of the candidates’ performance shows that, most of
the candidates were able to change the given verbs into active
participle, passive participle and gerund according to the given
instructions in the brackets and could measure the given verbs.
This shows that the candidates had adequate competence in the
topic of morphology. Extract 7.13 shows the sample of a good
response.
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Extract: 7.13
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Extract 7.13 is a sample of a response by a candidate who was

able to change the given verbs according to the instructions
given in the brackets.
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Further analysis shows that the candidates who performed
poorly in this question failed to change the given verbs into
active participle, passive participle and gerund, according to the
instruction given in the brackets due to lack of sufficient
knowledge or misconception of the question. Some of them just
named the given words instead of measuring them. Others
constructed sentences using words. In part (b), most of the
candidates did not measure the given verbs; instead, they
indicated the types of tenses and some of them changed the
given verbs into present tense or past tense, command sentence
or gerund. Extract 7.14 shows a sample of a poor response.
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Extract 7.14 is a sample of a response by a candidate who
mentioned the types of the given verbs instead of measuring
them.

2.5 Section 5: Article and Letter Writing
This section had two questions and the candidates were instructed to
answer only one. Each question carried twenty (20) marks.

2.5.1 Question 8

In this question, the candidates were instructed to write an
article on the importance of the public services.

The question was attempted by only 1.4 percent of the
candidates and their performance was poor, as 100 percent of
them scored from 0 to 5.5 marks out of the 20 marks allocated
for this question.

Most of the candidates did not opt for this question and those
who attempted it performed poorly. This poor performance
indicates that the majority of the candidates did not meet the
requirements of the question due to inability to express
themselves in Arabic Language which was caused by
insufficient vocabulary. This caused them to write two or three
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lines or an introduction only. Others provided points which were
not relevant to the requirements of the question due to
misconception and mistook the word (.39.+) for the word ((44).
For example, one of the candidates mistook the word (44
which means public services with word () that means
kindness for writing an article on kindness instead of the
importance of the public services. Extract 8.15 shows a sample
of a poor response.

Extract: 8.15
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Extract 8.15 is a sample of a response by a candidate who wrote
an article on kindness instead of the importance of the public
Services.

29



2.5.2 Question 9

In this question, the candidate was instructed to write a friendly
letter to his/her mother on her birthday appreciating her about
her kindness to him/her and showing his/her obligation towards
her.

The question was attempted by 98.0 percent of the candidates,
61 percent of whom scored from 2.5 to 6.5 marks, 36.8 percent
scored from 7 to 11.5 marks and only 2.2 percent scored from
12 to 17 marks. This shows that the candidates’ performance for
this question was average. This performance is summarised in
Figure 8.
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T 0% 61.0%
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= 30% -
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2 20% -
-
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25-6.5 7-115 12-17
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Figure 8: Candidates’ Performance

The candidates who performed well in this question were able to
write a friendly letter adhering to the format of informal letter
writing in Arabic Language by writing the address, greetings,
body and conclusion in a good flow and their points were well
organized. In the main body, they were able to elaborate how
mother had been kind and promised to take care on her. This
indicates that the candidates had a good mastery of Arabic
Language and sufficient knowledge about informal letter
writing. Extract 9.16 shows the sample of a good response.
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Extract: 9.16
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Extract 9.16 is a sample of a response by a candidate who
adhered to the format of informal letter writing in Arabic
Language and organised the points in a good flow.

Despite the good performance in this question, there were a few
candidates who performed poorly because they did not have
enough vocabulary to express themselves. These candidates
failed to explain how kind mother had been and their obligation
towards her. Most of the candidates could only write the
address, date and greetings. For example, one of the candidates
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wrote the address, date, greetings correctly but provided
explanations about celebrating Edil-ulfitri (& +) instead of
birthday (&«/ ££) because he/she mistook the word (4£) which
means feast day with the word birthday. Some of these
candidates just copied the question and used it as an answer.
Extract 9.17 shows a sample of a poor response.

Extract: 9.17
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Extract 9.17 is a sample of a response by a candidate who mistook
(Lbal) 22) “birthday” for (L&d ) Edil-ulfitri.
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3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION IN ARABIC LANGUAGE PAPER 2

3.1 Section 1: Rhetoric

This section had two questions and the candidates were instructed to
answer only one. Each question carried twenty (20) marks.

3.1.1 Question 1

This question had parts (a) and (b). In part (a), the candidates
were instructed to point out Majaz mursal (J«s! iaal) and
mention the types of Alaga (4®+f) and Qarina (<) which
were used in the five given sentences. In part (b), the candidates
were instructed to point out the metaphor (4_4iwy) and mention
its types from the given sentences.

The question was attempted by 9.8 percent of the candidates and
their performance was poor, as 92.2 percent scored from 0 to 6.5
marks, 3.1 percent scored from 7 to 11 marks and only 4.7
percent scored from 12 to 16 marks out of the 20 marks
allocated for this question. This performance is summarised in
Figure 9.
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Figure 9: Candidates’ Performance
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The analysis of the candidates’ responses shows that, the
candidates who performed poorly in this question were unable
to point out Majaz mursal (Jwl/ Jitaas) and failed to mention
the types of Alaga (49&) and Qarina (<) which were used
in the given sentences and they could not mention the metaphor
(éwy) and its types from the five sentences given, thus
providing incorrect responses. The analysis shows that, most of
the candidates mentioned incorrect types of Alaga (4&J) in the
sentences. Some of them provided the source of Alaga (48) in
the Majaz mursal (Juse Jjtasl) known as “unsimile” ( &
d¢liw), and others wrote the answers which were not related to
the demands of the question. For example, one of the candidates
mentioned the basic elements of metaphor (4_teiwy)) instead of
the types of this metaphor (4_teiwy). There were also and a few
candidates who left the items in the question unanswered.
Extract 1.1 shows a sample of a poor response.
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Extract: 1.1
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Extract 1.1 is a sample of a response by a candidate who
mentioned types of simile instead of types of metaphor from the

given sentences.

Despite the poor performance in this question, there were a few
candidates who performed well. They were able to answer part
(a) by pointing out some of the Majaz mursal (J«// itaa) and
its Alaga (49%) as well as its Qarina (<idf) which were used
in the five sentences. Moreover, they were able to answer part
(b) pointing out the metaphor (4 teiwy) from the given sentences
and then mention its types. Extract 1.2 shows a sample of such a
response from a script of a candidate.
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Extract 1.2 is a sample of a response by a candidate who was able
to point out Majaz mursal (J«s// itaef) and could mention the
types of Alaga (4 and Qarina (<) which were used in
three sentences (a-2, a-3 and a-4) but failed to provide correct
answers in sentences (a-1 and a-4). Moreover, the candidate was
able to point out metaphor (éteiwy) and its types from the given
sentences as required in part (b).

3.1.2 Question 2

This question had two parts (a) and (b). In part (a), the
candidates were instructed to define real meaning, mention
types of phraseology, imperfection from purity of language and
distinguish between Majaz mursal (J«se/ Jitass) and metaphor
(6eiwd)). In part (b), the candidates were required to define the
meaning of prohibition in rhetoric, point out real meaning and
metaphor among the given sentences and finally explain the
intended meaning from the given imperative sentences.
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The question was attempted by 88.2 percent of the candidates,
37.2 percent of whom scored from 12 to 17 marks, 41.2 percent
scored from 7 to 11.5 marks and only 21.6 percent scored from
0 to 6.5 marks. This shows that the candidates’ performance for
this question was good. This performance is summarised in
Figure 10.

Key
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Average

ml2-17
Good

Figure 10: Candidates’ Performance

The candidates who scored high marks in this question were
able to define real meaning, mention types of phraseology,
imperfection from purity of language and distinguish between
Majaz mursal (J«sd Jtaat) and metaphor (seiwy) and they
could define the meaning of prohibition in rhetoric, point out
real meaning and metaphor from the given sentences. However,
many of these candidates could not explain the intended
meaning from the given imperative sentences; instead, they left
the question unanswered. Extract 2.3 shows a sample of such a
response from a script of a candidate.
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Extract 2.3 is a sample of a response by a candidate who was able
to define the meaning of prohibition in rhetoric and could provide
real meaning and metaphor from the given sentences.
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On the other hand, most of the candidates who scored low
marks in this question failed to answer item (b-5) which asked:
“Explain the intended meaning from the following imperative
sentences” (LY cuS il A so¥) fua (4 I Lo o). “A- God said:
be stones or iron” (J4uts of Slas [4isS o Mes S, B- God said: do
as you want to do, he knows well everything you are doing” ( J&
s (gland Ly 4f calid La | glae) ; Jled), The correct answers were
supposed to be; A- “indignity” (4i¥). B- “Threatening”
(+<4). Some of the candidates left the item unanswered; others
repeated the question and others provided irrelevant answers.
There were also a few candidates who mistook types of
phraseology for imperfection from purity of language and
therefore switched the responses between items (a-4) and (a-5).
This shows that the candidates had insufficient knowledge of
rhetoric. Extract 2.4 shows a sample of a poor response.
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Extract 2.4 is a sample of a poor response by a candidate who
mistook types of phraseology with imperfection from purity of
language and, as a result exchanged the answers between items (a-
4) and (a-5).
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3.2 Section 2: Literature (Poem)

This section had two questions and the candidates were instructed to
answer one question. Each question carried twenty (20) marks.

3.2.1 Question 3

The question had parts (a) and (b). In part (a), the candidates
were instructed to write five verses of poems after the given
one. In part (b), the candidates were required to relate the given
poem to its poet after which they were to write a short history of
poet.

The question was attempted by 44.0 percent of the candidates
and their performance was good, as 37.2 percent scored from 12
to 19 marks, 30.2 percent scored from 7 to 11.5 marks and 32.6
percent scored from 0 to 6.5 marks out of the 20 marks allocated
for this question. This performance is summarised in Figure 11.
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Figure 11: Candidates’ Performance

The majority of the candidates who performed well in this
question were able to provide five verses of poems after the one
given and they could relate the given poem to its poet. They also
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provided a short history of the poet by mentioning the name of
the poet, the date of birth and death, the place where he was
born and some of his characteristics. Extract 3.5 shows a sample
of a good response.

Extract: 3.5
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Extract 3.5 is a sample of a response by a candidate who was able
to provide five verses of poems after the one given and could
provide a brief history of the poet.
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Further analysis shows that the candidates who performed
poorly in this question provided answers which were not related
to the demands of the question. For example, one of the
candidates provided five verses of Al-farzdaq’s poem instead of
Mutanabi. Some of the candidates just copied some poems from
the questions and used them as answers. In part (b), most of the
candidates were unable to write a short history of the poet due to
poor mastery of Arabic Language, particularly lack enough
vocabulary. A few left the questions unanswered. Extract 3.6
shows a sample of a poor response.
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Extract 3.6 is a sample of a response by a candidate who provided
verses of poems instead of giving a short history of the poet as
required in item 3b.
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3.2.2 Question 4

This question had parts (a) and (b). In part (a), the candidates
were instructed to complete the poems with right information by
filling in the blank spaces. In part (b), the candidates were
required to write about the missed verses from the given poem
and explain the occasion on which this poem was said.

The question was attempted by 51.3 percent of the candidates,
36 percent of whom scored from 0 to 6.5 marks, 27.7 percent
scored from 7 to 11.5 marks and only 36.3 percent scored from
12 to 19 marks. This shows that the candidates’ performance for
this question was good. This performance is summarised in
Figure 12.

Key
m0-6.5
Poor

a7-11.5
Average

m12-19
Good

Figure 12: Candidates’ Performance

The candidates who scored high marks in this question were
able to complete the poems with the right information by filling
in the blank spaces, providing the missed verses from the given
poem and could explain the occasion on which the given poem
was composed. This shows that these candidates had sufficient
knowledge of poem. Extract 4.7 shows a sample of a good
response.
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Extract 4.7

AN w*)\

SEAPMWLY S

RSN TR K

xx N S \nguwiﬂgw\

—

¥¥ soaiMgtse WMy ELIC.PEN

EYCRO\ P o AN Lo

EX 65 ewe An NS B \5)\6

ICAPIR]) i_,u N do o\ ois

XY OMQHQJJM\WEX

U\‘SJKJQ/ ?t,.h\'.at,g

N
'

Fe4 1’5J-ﬁ) wb‘-ﬂbog@g_

BEER A W ff')ﬁ)_J\s'

”’ch-‘ugf ‘\o\wu\

:.LSJ U\l Lo W\qu

1
L

A C-RRCIW | R ¥-Y ,_sul A

s 0y e By &_w M’\&_ﬂ e 5D

b\_\ﬂ-\mqkﬁ\)@—b—\ Q\A.\-é\..é\ ok ir ‘,_r\-»-* \J\\ghh\_;-l\.ﬂ-’ 2

L e2® ‘\—7\’\3;\_.0—‘\___,....-.7-1\5\:5\ pLAJ\Jsﬂ\..M‘\_J\,L“,\\

g Joa M, N Wansd o\ 058 gy c s 3

L \\)u (s> o8 kw\ﬂ\y\,}\q AT Y ¥ bl e e Mo Y

5X\<\)\Ws\m\_,‘.~)\ Nog J\JJ\ M9 Pl L1 (D93 msd

0&1\7.;_)3\50 Etn\.s-a_‘\\ ‘f\,.»:

. PRI | \;&5 @M\M

U)-M:) i Q\QMUT. C\‘,Q \..,-JQ-J\‘\J‘\' Q\u\ﬁ»’h\c):@

(J“\;lﬁ\@y\uu\ﬂv \ﬁ\qu\ﬁsb—'n»«sj\bw

l);_J A s \J\AMS \,-‘_,_,J\,_)«c\\) b\m 29 (ot

[RETETE PHCVR S (‘»\%‘\9 b L5 bslsilg s

— SE—

Extract 4.7 is a sample of a response by a candidate who was able

\

to complete the poems with the right information by filling in the
blank spaces.
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Despite the good performance in this question, there were
candidates who performed poorly. Some of the candidates
provided partial verses. For example, one of the candidates
wrote "(asl (siL ki ) where he/she provided the first
word and second word correctly but the other words were
incorrect. The correct answer was supposed to be (&L
4as PRI which means “I was pleased with good manners”.
Other candidates left the items unanswered due to insufficient
knowledge about the poems. There were also candidates who
provide unclear sentences due to a poor mastery of Arabic
Language. Extract 4.8 shows a sample of a poor response.

Extract 4.8
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Extract 4.8 is a sample of a response by a candidate who could not
complete the poems with the right information.
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3.3 Section 3: Literature (History)

This section comprised of two questions and the candidates were
instructed to answer one question only. Each question carried twenty
(20) marks.

3.3.1 Question 5

This question had parts (a) and (b). In part (a), the candidates
were instructed to define the meaning of literature and narrative
poem literature, mention types of Arabs and classification of
Arabs before Islamic era and two names of good poets of pre-
Islamic time. In part (b), the candidates were instructed to
mention the authors of the five poems given.

The question was attempted by 72.5 percent of the candidates
and their performance was average, as 40.2 percent scored from
0 to 6.5 marks, 27.4 percent scored from 7 to 11.5 marks and
only 32.4 percent scored from 12 to 19.5 marks out of the 20
marks allocated. This performance is summarised in Figure 13.
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Figure 13: Candidates’ Performance

The candidates who performed well in this question were able to

define the meaning of literature and narrative poem literature,

mention the types of Arabs and classification of Arabs before
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Islamic era and two names of good poets of pre- Islamic time
and could mention the authors of the given poems. Moreover,
they were able to mention the authors of the five poems given.
Extract 5.9 shows a sample of a good response.
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Extract 5.9 is a sample of a response by a candidate who was able
to mention the authors of the given poems.
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Further analysis shows that, many of the candidates did not
understand the requirements of the question in part (b) where
requiring them to mention the authors of the given poems. Most
of them copied the given poem instead of mentioning the
authors of the given poems and others explained the meaning of
the given poems. Moreover, some of them wrote a poem against
the given poems and a few of them left the question
unanswered. Extract 5.10 shows a sample of a poor response.
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Extract 5.10 is a sample of a response by a candldate who
explained the meaning of the given poem instead of mentioning
the authors of the poems.
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3.3.2 Question 6

This question had parts (a) and (b). In part (a), the candidates
were instructed to mention three famous poets in Umayyah
empire as well as time when the Abbasiyah Empire took over
the state, explain the situation of poetry in the first era of Islam,
explain three attitude of poetry in Umayyah Empire and mention
the two pillars of literature. In part (b), the candidates were
instructed to write four verses of poems that talk about the
woman (mother) from the poet Hafidh Ibrahim.

The question was attempted by 25.6 percent of the candidates,
74.4 percent of whom scored from 0 to 6.5 marks, 16.7 percent
scored from 7 to 11.5 marks and only 8.9 percent scored from
12 to 15.5 marks. This shows that, the candidates’ performance
for this question was poor. This performance is summarised in
Figure 14.

Key
m0-6.5
Poor
o7-11.5
Average
m12-15.5
Good

Figure 14: Candidates’ Performance

As indicated in the data, most of the candidates who attempted
this question performed poorly. These candidates were unable to
provide the correct answer to item (a-3) which asked: “How was
the situation of poetry in the first era of Islam ( el Ja LS dS
2wyl e 4. The correct response was supposed to be;
“poetry faced stagnancy in the first era of Islam” ( el Jla o2 2
i) i A 2950 e 3 A4, On the contrary, most of them
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answered by writing: “to reply polytheism poetry against
Muslims” and others responded by writing; “to defend Islam
against polytheists™, all of which were incorrect. The candidates
also failed to provide the correct response to item (a-4) which
asked: “Which were three attitude of poets in Umayyah
Empire?” (fgs¥) sael 4 cuils 4D adl claladl 4 L), The
correct response was supposed to be; ‘Political poetry, love
poetry and defamatory poetry’ ( uedy slagl sad « pubuad) addl
J4). Instead, many of them mentioned names of poets, while
others wrote the periods of Arabic literature which were wrong
and a few of them left the questions unanswered. This indicates
that, the candidates had inadequate knowledge about Arabic
Literature. In part (b), most of the candidates provided the
content of Hafidh Ibrahim poem on good manners instead of on
a woman (mother). Others just copied some verses of poem
from one given and used them as answers. Extract 6.11 shows a
sample of a poor response.
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Extract: 6.11
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* Extract 6.11 is a sample of a reé'b'c-iﬁ_se by a candidate who
provided the content of Hafidh Ibrahim poem on good manners
instead of a poem on a woman (mother).

However, there were a few candidates who performed this
question well. These candidates managed to mention three
famous poets like "Jariry, Alfarazdaq and Alkumeyti" ( <z

cuaslly (34745 in Umayyah Empire as well as time when the

Abbasiyah Empire took over the state, provided the two pillars
of literature (Uily &) mean "poetry and prose" and could

provide verses from the given poem on a woman (mother) from
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the poem of Hafidh Ibrahim as required. However, the
candidates failed to provide correct responses in item (a-3) and
item (a-4). Extract 6.12 shows the sample of such a response.

Extract: 6.12
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Extract 6.12 is a sample of a response by a candidate who
managed to provide verses of the poem on which the content of
Hafidh Ibrahim poem on a woman (mother).
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3.4 Section 4: Literature (Poetry & Prose)

This section had two questions and the candidates were instructed to
choose one. Each question carried twenty (20) marks.

3.4.1 Question7

This question had parts, (a) and (b). In part (a), the candidates
were instructed to explain the meaning of the given text of the
poetry. In part (b), the candidates were instructed to explain the
meaning of the given words (phrases).

The question was attempted by 50.5 percent of the candidates
and their performance was poor, as 79.8 percent scored from 0
to 6.5 marks, 14.5 percent scored from 7 to 11.5 marks and only
5.7 percent scored from 12 to 18 marks out of the 20 marks
allocated for this question. This performance is summarised in

Figure 15.
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Figure 15: Candidates’ Performance

The analysis of the candidates’ responses in this question Shows
that most of them were unable to express themselves in Arabic
Language, as their explanations were not clear. Moreover, they
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were unable to organise their ideas in a good flow and their
responses had a lot of grammatical errors. Extract 7.13 shows a
sample of a poor response.

Extract: 7.13
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Extract 7.13 is a sample of a response by a candidate who
provided unclear meaning of the given text of the poem and
provided incorrect meaning of the given words or phrases.
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Despite the poor performance in this question, there were a few
candidates who were able to explain the meanings of the given
text of the poem and could explain the meaning of the given
words or phrases. For example, the meaning of the following
words: (#%ls L -9 mean "pass away", (&ds/ -c«9) mean
"protect” and (<& - 243«f) mean "dignity". This shows that,
these candidates had a good mastery of Arabic Language.
Extract 7.14 shows the sample of a good response.

Extract: 7.14
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Extract 7.14 is a sample of a response by a candidate who was
able to explain the meaning of the given text of the poems and
could provide the meaning of the given words or phrases.
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3.4.2 Question 8

This question had parts, (a) and (b). In part (a), the candidates
were instructed to explain in details the meaning of the given
text. In part (b), the candidates were instructed to explain
meaning of the given words.

The question was attempted by 39.5 percent of the candidates
and their performance was poor, as 67.6 percent scored from 0
to 6.5 marks, 29.3 percent scored from 7 to 11.5 marks and only
3.1 percent scored from 12 to 14 marks out of the 20 marks.
This performance is summarised in Figure 16.

Key
m0-6.5
Poor

O7-11.5
Average

m12-14
Good

Figure 16: Candidates’ Performance

The candidates who scored low marks in this question had
insufficient vocabulary. Some of them left the questions
unanswered and others provided unclear meaning on the given
text. Moreover, their responses had a lot of spelling mistakes. In
part (b), many of these candidates gave incorrect meaning of the
given words and some provided unclear meaning. For example,
one of the candidates provided the meaning of the given word
(m=) as “count” (&) instead of "disgrace" (<+). Extract 8.15.1
and 8.15.1.2 are samples of poor responses from the scripts of
candidates.

59



Extract: 8.15.1
Lﬁ—«j}—’,(;‘]! -7.L\_‘§“¥ Wlﬂ“ %_91 L"a\ijy. 2

Gl e G s el o
> v, >, 7
;IJ«J" j}\ \‘z\@/\-ﬁ\'}d\g ﬂaﬁé‘—z‘ ° {w ’]/@

*-9}«55%.\/0 s ¥ SNV s /\'b—éif X L
3 " N

Lidaka (adla . boax® (waidl Ll
Koo, SL1OS {A\HJ-J& Tinpbe sl pﬁﬁ
L/ \J EX \WJ [

’rﬂ\ﬁjﬁisuq lecu Jle Ew Los Uuuﬂ

J?%L?“ JLell ’"/T}U o5 ! b&b{

~

%lﬁxﬂ/ézc ( _,_%J ( )-A..Q_/L” UG\)L’O)
W) J 7

L

L

B> U (Y o) spol (80 (i
) I A R

%j[;'*‘ba\h—' S PRI Y N PR Oy
' A VA /

OGN G
— LAl

Extract 8.15.1 is a sample of a response by a candidate who
provided unclear meaning of the given text due to a poor mastery

of Arabic Language.
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Extract: 8.15.2
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Extract 8.15.2 is a sample of a response by a candidate who
provided incorrect meaning of the given words.

On the other hand, the candidates who scored high marks in this
question were able to provide the meaning of the given text,
though their responses had some spelling mistakes. For
example, one of the candidates used the word (.~) which means
“criminal conversation” instead of the word (4) which means
“decoration”. This shows that the candidate omitted the letter (3)
from the word (<L) as seen in the following sentence ( 44 &/
Ly ) e £ (A gliasy Jeaad). This sentence should be: “A
good face does not need any type of decoration so as to decorate
it indeed” (4 i 4ij ow g5 A gling ¥ uaadl 42 48/ ). They also
provided the meaning of the words given. For example, the
words (cetf -EL)  mean  “seer', (i - ¢#J) mean
“intelligence”, (z4) J34 -afx) mean "made happy" and
(cuddd -gelals) mean "emigrants”. This shows that the
candidates had a good mastery of Arabic Language. Extract 8.16
shows a sample of such a response.
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Extract 8.16 is a sample of a response by a candidate who
provided the meaning of the given text and could provide
meaning of the given words.
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3.5 Section 5: Response to Readings

This section had two questions and the candidates were instructed to
choose only one. Each question carried twenty (20) marks.

3.5.1 Question 9

In this question, the candidates were instructed to explain how
the first judge pronounced between Aliy Koja and the
businessman Hassan and what Aliy Koja did after the judgment.

The question was attempted by 91.0 percent of the candidates,
62.8 percent of whom scored from 0 to 6.5 marks, 32.7 percent
scored from 7 to 11.5 marks and only 4.5 percent scored from
12 to 16.5 marks. This shows that the candidates’ performance
for this question was poor. This performance is summarised in

Figure 17.
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Figure 17: Candidates’ Performance

The candidates who performed poorly in this question provided
incorrect explanations about the judgment which was
pronounced by the judge of children due to misunderstanding or
insufficient knowledge of the story of Aliy Koja and the
businessman Hassan. Some of them were unable to express
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themselves in Arabic Language and, as a result expressed their
ideas in few sentences and their explanations were unclear and
had a lot of spelling mistakes. Others copied some words from
the question and used them as answers. A few of them provided
answers which were not related to the requirements of the
question. For example, one of the candidates provided the story
of a tortoise instead of the story of Aliy Koja and the
businessman Hassan. Extract 9.17 shows a sample of a poor
response.
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Extract 9.17 is a sample of a response by a candidate who
provided the explanations on the second judge instead of the
explanations from the first judge between Ali koja and Hassan.
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The candidates who performed well in this question were able to
explain how the first judge pronounced between Aliy Koja and
the businessman, Hassan, and what Aliy Koja did after the
judgment. For example, one of the candidates explained; "After
hearing the explanation from the businessman, Hassan, the first
judge pronounced that the businessman Hassan was innocent of
accusation. After that, Ali koja appealed against that judgment
by writing a letter to the caliph, Haruna Rashidi, as the victims
of injustice had been doing in that time" ( ot/ (v S raw Lalg
Ly Gatb AR | ) lgad il 0] 9 Lis 98 Ao il cdagll (ha oy s
Ol il i 4 Ggaslhied Jd oIS LaS). Furthermore, they arranged
and organised their points well, though there were some
grammatical errors. Extract 9.18 shows a sample of a good
response.
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Extract 9.18 is a sample of a response by a candidate who could
explain how the first judge pronounced between Aliy Koja and
the businessman Hassan.

3.5.2 Question 10

In this question, the candidates were required to explain how
Sindbad met the captain after hopelessness.

The question was attempted by 5.6 percent of the candidates and
their performance was poor, as 86.5 percent scored from 0 to 6.5
marks, 10.8 percent scored from 7 to 11.5 marks and only 2.7
percent scored from 12 to 13.5 marks out of the 20 marks. This
performance is summarised in Figure 18.
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Figure 18: Candidates’ Performance

However, most of the candidates omitted this question and those
who attempted it performed poorly. The majority of these
candidates were able to provide introduction but could not
explain how Sindbad met the captain after hopelessness.
Furthermore, their responses were unclear and had a lot of
grammatical errors and spelling mistakes. This shows that the
candidates had a poor mastery of Arabic Language. Extract
10.19 shows a sample of a poor response.

67



Extract: 10.19
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Extract 10 19 is a sample of a response by a candldate who could
not explain how Sindbad met the captain.

Further analysis shows that, there were some candidates who
performed averagely in this question. These candidates provided
insufficient explanations on how Sindbad met the captain after
hopelessness. In addition, their responses had some of
grammatical and spelling mistakes. For example, one of the
candidates provided the following sentence: ( od¢ diif i/ ajo g
pleb S<iif 4w 44l “He intended to take advantage of resting so as
to get food". This sentence is incorrect because the candidates
used the second person pronoun (<) instead of third person
pronoun (). The letter (=) in the first word (a.®) should be (g)
and the letter (u) in the second word (<«f) should be (u<).
Therefore, the correct sentence was supposed to be; ( 434 &/ aje s
Lalads JSL o s I 4uc il 038) “He intended to take this advantage
of resting to get food”. Extract 10.20 shows a sample of a poor
response.
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Extract 10.20 is a sample of a response by a candidate who was able
to explain how Sindbad met the captain, but the sentences provided
had grammatical errors and a lot of spelling mistakes.
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4.0

5.0

PER TOPIC ANALYSIS OF CANDIDATES’ PERFORMANCE

The analysis of the candidates’ responses in each topic shows that, the
candidates had a good performance in Comprehension, whereby 84.8 percent
scored an average of 35 percent or above, followed by Morphology, whereby
73.9 percent scored an average of 35 percent or above and Poem, whereby
65.7 percent scored an average of 35 percent or above. The candidates had
average performance in Language use, Grammar, Rhetoric and History of
literature, whereby 52.85 percent, 51.35 percent, 43.1 percent and 42.7
percent scored an average of 35 percent or above. However, the candidates
had a poor performance in Poetry and Prose (26.3%), Response to Readings
(25.35%) and Composition (19.5%) where the percentage of candidates who
scored an average of 35 percent or above is shown in the respective brackets.

CONCLUSION AND RECOMMENDATIONS

5.1 Conclusion

The general performance of the candidates in Arabic Language in
ACSEE 2016 was Average. This average performance is a result of
some candidates performing well and others performing poorly in the
tested topics. As indicated above, majority of the candidates performed
well in the topics of Comprehension, Morphology and Poetry. The
good performance in those topics could be influenced by adequate
vocabulary and sufficient competence in reading and analysis skills
which enabled the candidates to read and understand the given passage
and poem and also to identify the measures of the given verbs. On the
other hand, the candidates' poor performance in Poetry and Prose,
Response to Readings and Composition could be attributed by their
failure to identify the tasks of the questions, inability to express
themselves in Arabic Language and inadequate knowledge of the
concepts related to the topics. The summary of the candidates'
performance is presented in the Appendix A.
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5.2

Recommendations

In order to improve the performance of prospective candidates it is
recommended that:

(a)

(b)

(©)

(d)

Students should be encouraged to extensively read Arabic books
to improve their vocabulary and grammar. This will eventually
enable them to use correct spelling and grammatically correct
sentences.

Students should also be advised and guided to put more effort in
studying the topics of Rhetoric and Poetry and Prose in order to
perform well in the examination.

Students should be provided with enough tasks to enable them
speak, write, read and listen to various Arabic texts and
conversation.

During teaching Arabic prose, all parts of story in Arabic

Language should be given equal importance to enable students to
answer examination questions.
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The Candidates’ Performance Topic-wise in ACSEE 2016

125- ARABIC LANGUAGE

Appendix A

S/N

Topic

Total

Number of
Questions

The Percentage
of Candidates
who Scored 35 an
Average Marks or
Above

Remarks
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4. Language use 2 52.85 Average

5. Grammar 2 51.35 Average

6. Rhetoric 2 43.1 Average

7. History of 2 42.7 Average
literature




Appendix B

The Candidates’ Performance Topic-wise in ACSEE 2016
125- ARABIC LANGUAGE
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